{Q} PNEUTREND

, Speed Wheel Length Weight Consumption Noise dB(A) Uncertainty Vibration AirInlet  Pressure
Technical RPM . mm/inch mm/inch ka/lb LPM / CFM LpA LwA KPA KwA m/s* inch Bar / PSI
petals  J O] A Mmoo P O W @ e
80017 14000 100 (4) 370(145) 1.1 (2.4) 102 ((3.6) 95.6 106.6 3 <25 1/4 6.2 (90)

52B(52B-1

Index No. Description Quantity Index No. Description Quantity Index No. Description Quantity

47 VALVE STEM SET 1 29 COUPLING NUT 2 51 SCREW (M4*6) 4
1 30 COWPLING 1 528 I
7B AIR INLET 1 31 BEARING (699) 1 52B-1 WASHER(5/8")
I Washer
10  PROTECTING RUBBER 1 33 CLAMP NUT 1

16 PIN (2.8%25.8L) 1 37B  PINION GEAR (15T) 1 70 MUFFLER BODY 1
I I I

18 BEARING (626) 1 39BZ  ANGLE HOUSING SET 1 77 SCREW (M4*8) 1
1 40 WASHER 1 78 SNAPRING(RTW-18) 1

20 REAR PLATE 1 43Z  SHAFT SET 1 792 REGULATOR SET 1
4 45 NT 5 80Z SPINDLELOCKSET 1

238 ROTOR 1 46B  SCREW (M4*20) 1 81  WASHER 1
24z CYLINDERSET 1 47 HANDLELINK 1 82Z SHAFTSET 1

25 BEARING SPACER 1 48B  FACE PLATE

1
1 49 SCREW (M4*10) 4

* Due to our continuous improvement, all specifications are subject to change without prior notice. 2004



